gooooooooooo0gd
Joooo00000000000000000000000000120000
000000000000000000
000 (000000000000 D00000000000000000000000
oo 23 0O o0 0O0ooOOoOOoOoooon 0oooo0oooooon
EREH 0000O00o0oo0oO0Oooooooogg
goooooooonn ogopg |[E0O00C0
No. EEXL(FEOERETE£4) X4 ooooooo
000 |[p0o00000oooooooooonog
7 l[DooooooooOo oo DEI nisfslsllisisisisislinisisisisisisisisininiaisininls!
e = = ooag 0000000000000 0000000000000000000000
iR s L] ] mE e g |00o0000000000000000000000000000000
oooog 3 4 2 00000000000000000000 oo
EBBEEOMERIT noogdgooooogogogooon (Qooooo
00000000020 | 00 000 pe— o -
s <Oo000>
555 WERTH | 307159 1 nnooooooooooooo
DOoDOOO00O0000 | oog noo O
o| e
uoooooooooon 23] ‘o ooooo | 1,023,842
O O oood 2,047,687
FHEREROBE g
000000000000 000000000000000000000000000000
000000000000 0000000000000000000000000000
2]
. 0000000000000 D00@I0SNON120004000000) - <Oo000>
¥ D0DDDO0O0DODO00O0O0OS00000000000000000000 AEFHER| 250638 o ooooooooo
00000000000000000(@080)
njajujs!
<0 0> 0O Oooooo 83,544
0000000000000000000000000000000000000000000 0 Oooo 167,089
g (000000000000 0000000000000000000000000
:3]
. inininininisisisisinininininininfink
B <0 0>
000D0000000000000000000000000000000000000000
= = <0o0o00>
oo o |HBBERETE| 250633\ o nooooooo
0
00> S SD;EEDD 83,544
000D0000000000000000000000208100000000000000 al o oooo 1677089
00000000000000 ’
g 000230500000000000000006,9780000 O
7 {%?ﬂmﬂD&HMDDDMDDD&MMDDDHDDD&%%) S E SR S
é 000000000000000000000000000000000000000000
0o <00o00>
| 000000000000000000000000000000000000000000000000
000000000000000000000000000009000000000000000000
- <0o00>
250,633
000230 8000000000000000000 TREE OOO0000OOOOOoOoon
% |[boDooooooooODOOOOO080OO0
% |DDo230120000000000120000 oooo
) 0 OOooOoo 83,544
2 0 0000 167,089
b—
P2
? mininiaisisininininiaiaiainininlnfink
Uz <0ooo>
D00000O0O0OCOOO0OO000OOOCOOO00O0OOOOCOO0O0000OOCOOONONONONOoooong
oo

-44- -45-



